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The interquartile range is the difference between any two consecutive quartiles.

If M is the mean of x), x2, and x3, then the mean of 3x1+9,3x2+9, and 3x3+ 9 is 3M + 9.
It P(A) = 0.8 and P(B) = 0.3, then we can conclude that A and B are mutually exclusive.
The normal approximation is usually adequate when the sample size n is greater than 30.

The variance and mean of the Poisson distribution are equal.

IL. B (16%)

4,

6.

Calculate the mean and median of the following data set, 31, 28, 34, 56, 32, 55. Round your
answer to the nearest tenth:

A) 39.3 and 32, respectively

B) 39.3 and 34, respectively

C) 39.3 and 33, respectively

D) Mean: 39.3; there is no median

Calculate the third quartile of the following data set, 30, 10, 19, 18,25, 20, 21,23, 10, 17, 30,
19,25, 10, 10,25, 18, 17, 17, 23, 25

A) 20 B) 25 C) 19 D) 21

. Find the standard deviation of the following data set., 290, 305, 302, 355.
A) 28.7 B) 29.7 C) 259 D) 249

If the median of the following set of data, 13.1,9.2,x, 11.4, is 11.5, find the value of x.

A) 114 B) 11.5 C) 11.6 D) Cannot be determined

Suppose S = {e;,e;,e3}  be the sample space.If P(e;) = 0.2 and P(e;) = 0.6 what is the
probability of e,.

A) 02 B) 08 C -02 D) I

Consider the experiment of tossing a coin nine times. Find the probability of getting exactly
one head.

MN/512 B)9/S12 O)1/513  Dy1R2

Suppose P(A) = 0.61, P(B) = 0.3, and P(A n B) = 0.2 Find the conditional probability of A
given that B does not occur. Round your answers to three decimal places.

A) 0.729 B) 0.364 C) 0.333 D) 0.164

. Records suggest that the normal distribution with mean 54 and standard deviation § is a

plausible model for a measurement of the amount of people in a subway coach. Find
P(30.48 <X < 67.28).

A) 0.950 B) 0.949 C) 0.946 D) 0.942
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9. 'The number of students per classroom in a mid-size college is a random variable whose
distribution is normal with mean 36 students and standard deviation 3 students. You intend to

visit twenty five classtooms, what is the probability that the average number of students per
room will be greater than 37.1 students? Y L .
A) 0.9664 B) 0.0334 C) 0.9665 D) 0.0360
10. Data associated with gold daily price per gram during the last five years indicates a
distribution with mean $36.09 and standard deviation $6.44. When 121 random samples of
size six are taken, what is the standard deviation of X
A) 0.05 B) 3.28 C) 0.02 D) 0.59
I1. An industrial researcher wants to perform a test with the intent of establishing that this
company's compact fluorescent lamp has a mean life greater than 6200 hours. The sample size
is 119 and he knows that ¢ = 62 hours. Find the numerical value of ¢ so that the test R =
{X = c} has a 5% level of significance.
A) 6205.68 B) 6205.83 C) 6209.35 D) 6190.65
12. Out of a sample of 604 gasoline purchases at a self-service gas station, 437 were made with a
credit or debit card. Estimate the proportion of sales made with a credit or debit card.
A) 0.724 B) 0.730 C) 0.736 D) 0.742
13. Find the probability of y? < 4.6 when degrees of freedom 15.
A) 0.005 B) 0.995 C) 0.01 D) 0.05

LR (40%)

1. For the data set, 19, 13, 9, calculate the variance. Round your answers to two decimal places.

2. A sample space consists of eight elementary outcomes with the following probabilities. P(e;)
=P(eg) = 0.125, P(e,) = P(e3) = P(e,) = 0.0625, P(e5) = P(eg) = P(e,) = 0.1875. Three
events are given as A = {e,e3,€,4,64}, B = {e3,e5,¢5} and C = {e;, e, €, eg}. Determine
the probability of (AU B) N C.

3. Suppose P(A) = 0.48 and P(B) = 0.31. Determine P(A U B) if A and B are mutually
independent.

4. Among the students in a Statistics course, 23% are physics majors, 32% are math majors, and
45% are biology majors. The percents of bilingual students within these three groups are 8%,
15%, and 20%, respectively. What is the probability that a person selected at random from

this course is a math major, knowing that is bilingual?

5. Given the following probability distribution, f(x)=0.3 for x=3, f(x)=0.5 for x=4 and f(x)=0.2
for x=7. Find E(X).
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6. About 64% of children in a neighborhood have a bicycle. Suppose n = 4 children are
two decimal places.

randomly selected. Find the probability that at most two have a bicycle. Round your answer to

7. The median age of residents of Louisiana is 34 years. If a survey of 300 residents is taken,
approximate the probability that at least 110 will be under 34 years of age.

a5

8. From a random sample of size 18, one has calculated the 90% confidence interval for pu and
obtained the result (17.6, 28.0). What was the % for the sample?
HLETE

A (34%)
1. Consider the following data set
x | 0 1 2 3 4
y | 8 8 4 3
A) Determine the regression line. (10%)

2
B) Use the regression line to predict the value of y when x=4.5. (4%)
C) Calculate the residual sum of squares SSE. (10%)

D) Calculate the determination coefficient. (10%)
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For 7 values less than —3.49, use 0.0001.
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“This value has been rounded to 1.28 in the fextbook.
®This value has been rounded to 1.65 in the textbook.
“This value has been rounded 10 2.33 in the textbook:
“This value has been rounded to 2.58 in the fextbook.

Source: Adapted from W. H. Beyer, Handbook of Tables for
Frobability and Statistics, 2nd ed., CRC Press, Boca Raton,
Fla., 1986. Reprinted with permission.
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